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@ 100cm? @la @ 1ha
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D 0.001km? @ 10ha @ma
@ 100000m? ® 1000000cm?
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= 100m x 100m = 10000m?
10000m? = 100a = 1ha = 0.01km?




@ 6t = 6000000 g @ 500kg = 04t
@120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120 kg
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@ 240a =2.4ha
@ 0.2km? = 20ha

® 35000a = 3.5km?

@ 170000m? = 17 a

@ 5.9ha = 59000 m?

@ 170000 m? = 1700 a
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@D 13ha =130a @1.8km2 = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?

~&B

D 13ha = 1300a

® 5.6 km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t

~&B

@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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® 4m? @ 40cm? (3)40 m?2

@ 4000 cm? ® 40000 cm?

92 1AA g
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3 400000 cm?
@ 4000 cm?
® 40000 cm?




@ 56000000 g = 56t

@ 380000g 4 0.063t = 443 kg
(@)3.5t +820kg = 1170 kg

@ 0.7t -2 70g ] 10000 Hio]T},

® 380kg + 4200 g = 380.42kg

1t = 1000kg = 1000000 g
® 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg




@ 240a =2.4ha @ 0.12km? = 1200 a
® 97.2ha = 972000 m?2 @3140 a=3.14ha

® 3500000 m? = 3.5km?

@ 3140a = 31.4ha
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@ 4a=400m? @ 2000a = 20 ha
® 6km? = 6000000 m? @3500000 a = 35km?

® 780000m? = 78 ha

@ 1km? = 10000a °|E&2
3500000 a = (3500000 + 10000) km? = 350 km? ¥ c}.
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42000( ) =420( ) =42ha

® m?, cm? @ km?, a @ m?, a

@ ha, m? ® ha, a

1ha = 100a = 10000 m?
b Ag2 2AHE m?, a9l
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D 12ha @) 1200000 m?
® 0.12km?2 @ 1200a

® 1200000000 cm?

~&B

SR E m? 2 FYoiA vl

@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?

oA, O=0=0 =06 <Q@YYt}.




14. #LolyE= 3.2ha 9] =04 & 5.6t = AR, W= 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)

wrakA] 97y 7} 1a T AJALEFO]

17.6 —17.5 = 0.1(kg) & @5t
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® A 1L =2-18a (@)/\}Z}ﬁg C20H-18a
® AHd 1L E=2-20a
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T djZbAd 9] dol= 217 80m , 30X 2 = 60m ©| 22
(FHERL O] Y o)
= 80 x 60 + 2 = 2400(m?) = 24(a)
Atte]E can e ol o] Zol= 90 + 30 = 120(m) YY)
=2
(Al &2 o))
= (120 + 90) x 40 + 2 = 4200( m?) = 42(a)
wEtA] A 2 nuol
42 — 24 = 18(a) © W&UTh




